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The difference between highest number an

Model Questions

Directions (Q.No. 1 - 5): Answer
the questions on the basis of the
information given below.

There are 8 children - Ramu,
Balu, Rajesh, Suresh, Mahesh, Siva,
Suman and Gopi who live on
different floors of a 8-floor building
numbered 1 to 8 not necessarily in
the same order. They are in different
class - 3, 5, 6 and 10 such that 2
children in same class. Children who
are 1n same class live on even-odd
floors (i.e. If Ramu and Balu study in
same class then if Ramu lives in odd
numbered floor then Balu will live in
even numbered floor.) Balu and
Suman are in same class. One of the
children in class 3 lives on 5™ floor.
The one who lives on 3™ floor is in
even numbered class. The one who
lives on 7™ floor and Rajesh are in
same class. Ramu is in class 6 and
lives on 4™ floor. 2 children live
between Mahesh and Ramu. Suresh
is in 10% class. One child lives
between Mahesh and Suman, both of
which are in odd numbered classes. 2
children live between one of the
children in class 10 and Siva. Siva
lives below this child. Both children
in class 10 live above Rajesh.

1. Which of the following pair is in
same class?

a) Balu, Siva  b) Suresh, Siva

c) Mahesh, Gopi

d) Ramu, Suresh

e) None of these
2. Who lives on 8" floor?

a) Mahesh

b) One of the children in class 6

¢) One of the children in class 10

d) Gopi

e) One of the children in class 3
3. How many children live between

Suresh and Siva?

a) 2 b) 1 c) None

d) 4 e) Cannot be determined
4. Who lives just above Suman?

a) Rajesh b) Ramu c¢) Suresh
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d) Gopi  e) Balu
Which of the following combina-
tion of floor number - child -
class 1s correct?
a) 1 - Rajesh - 5
b) 6 - Balu - 10
c) 5 - Suresh - 3
d) 3 - Siva - 10
e) 2 - Rajesh - 6
Directions (Q.No.6-10): Study
the following numbers and answer
the following questions:
683 567 376 872 468
6. If first and last digits of the above
numbers are interchanged, then
which among the following is the
highest number?
a) 567 b) 683 c) 376
d) 468 e) None of these
7. Which of the following will be
the second digit of the 4th num-
ber from top when they are arran-
ged in descending order, after the
first digit is changed with the
higher digit in the number?
a) 7 b) 5 c) 8
d)3 e) None of these
8. What is difference between the
first digit of highest number and
lowest number after the positions
of first two digits in each number
is interchanged?
a) 3 b) 2 c)S5
d)6 e) None of these
9. Which of the following will be
last digit of second lowest num-
ber after the positions of digit is
reversed in each number?

a)4 b) 2 c)3
d) 6 e) None of these
10. Which of the following is the

difference between highest num-
ber and the lowest number?

a) 496 b) 469 c) 459

d) 446 e) None of these

Directions (Q.No.11-15): Read
the information given below and
answer the question follows

There are 10 people sitting in a
circular arrangement. Out of these
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Reasoning

Specia/ r

people 5 are men and 5 are women.
Men and Women are sitting alternate
to each other and they are arranged in
increasing order of their scores in
NEET 2017 in clockwise direction.
Men are facing the center and
women are facing outward. There are
2 married couples Suresh, Kavitha
and Mohan, Sujatha. Suresh, Kavitha
and Mohan, Sujatha are sitting next
to each other. Suresh scored the
highest in NEET 2017 and Kumari
scored the lowest. Kamala sits
opposite to Mohan and Kunal sits
opposite to Sujatha. Kumar and
Latha are sitting together, but
nothing can be said about their
genders. Latha came 6™ overall and
Rahul sits next to Sujatha. Kavitha
sits next to her brother Mohan
11. Whose rank is 91?7

a) Kumar b) Suresh

¢) Kunal d) Kumari

e) None of these

12. Who came 7™ overall?
a) Kumar b) Suresh
¢) Kunal d) Kavitha

e) None of these
Who sits opposite to Kumari?

a) Kumar b) Suresh c¢) Latha
d) Kumari e) None of these

13.

14. Who sits opposite to Kumar?
a) Mohan b) Suresh
c) Latha d) Kavitha

e) None of these

Who sits 3™ right to 2" left to
Sujatha?

a) kumari b) Suresh c¢) Latha
d) Kavitha e) Rahul
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Directions (Q.No.16-17): In the
following question assuming the
given Sstatements to be true, find
which of the conclusion among
given conclusions is/are definitely
true and then give your answer
accordingly.

16. Statements: A >D =B; C>B <

M;L=N;M>N>0

Conclusions:
[.LA<C IIL.D<M
III.B>L IV.ALC

a) Only II is true

| Key with Solutions

(1-3)

FNO NAME CLASS
8 | Balu B
7 Mahesh | 5™
6 Suresh Jiot™
5 Suman BE
4 Ramu Gl
3 Siva 10%™
2 Rajesh 5th
1 Gopi 6t

1)b; 2)e; 3)a; 4)c; 5)d;
(6-10)

% 683 567 376 872 [468
386 765 673 278 | 864
Ans: d
D 683 567 376 872 468
883 767 776 872 868
883 872 868 [776] 767
Ans: a
8)
683 567 376 872 468
(463 657 736 782 [ 448
Ans: b
9)
683 567 376 872 468
38 765 673 278 864
Ans: d
10) 872 - 376 = 496
Ans: a
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d lowest...

b) Only I is true

c) Either I or IV is true

d) Only I and III are true

e) Only IV is true.

Statements: O <P>M; O<L<
B;P=R;B<D<N
Conclusions:

I.LD>M II.O<D III.R>M
a) Only I is true

b) Only II and III are true

c) All are true

d) I, III and II are true

e) None is true

17.

(11-15)

Kamala

Kumar T Kunal

Kumari

Latha — Suresh

Rahul

Sujatha T

11) c;
12) a;
13) e;
14) d;
15) e;

(16-17)
16)I. A<C
(A>D =B <C:FALSE)
II. D<M (D=B<M : TRUE)
L. B>L

(B <M> N =L : FALSE)
IV. A<C

(A>D =B <C : FALSE)

Ans: a
17) O< P> M,

O<LL<B;

P=R;

B<D<N

. D>M (M<P>O <L <

B<D: FALSE)

II. O< D (O £ L < B<D:

TRUE)

III. R > M (R=P>M: TRUE)
Ans: b
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